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1. A stationary train passenger hears a frequency of 500 Hz as a train approaches a bell on a trackside safety
gate. After the train passes the gate the passenger hears a frequency of 420 Hz for the bell sound.
What is the speed of the train? (speed of sound in air = 343 m/s)

o 5 o
()Y
2] 1 o1
Co GO
gi_ {_ V+\Vp _g,‘“:_ (_“ \/—\}VD
- Vv
f' % s Mt g
v v=w 420 W3-V
| = £5.11 \QCL%
109 (343-V) = M2+ D Np = =T-s w/e |

2. Tube A (open at both ends) has the same length as tube B (open at one end). What is the ratio of their
fundamental-frequeneies (frafrm)? Second. vesonan Ce i—\‘c;]w,lw ?
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1. The average output power of a speaker is 550 watts. The sound level that reaches to a detector is 105
dB, how far is the detector from the source? Assume the source of sound is isotropic and point source.
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2. The displacement of a sound wave in a material is given by: s (x,t) = (7.00 x10) €0s(5.23x — 7845t),
where andsn’,a_rghﬁmiand tis in seconds. Write the equation of the pressure variation wave [The

density o flair is 1.21 kg/’/]
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1. Two speakers S and S; are placed on the y-axis as shown in the figure. The speakers are in phase and

emit identical sound waves at the same time.
What are three lowest frequencies that will produce minimum sound at point B? (speed of sound in air

=343 m/s).
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2. A certain sound source is increased in sound level by 50 dB. By what factor is its intensity increased?
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